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Answers and commentaries

This resource is to be used alongside the A-level Accounting June 2022 Question Paper 1

Financial accounting and inserts.

6 mark question

Question 11
Explain two advantages of using a bank overdraft as a source of finance for a business.
[6 marks]

Mark scheme
AO1 - 6 marks

Apply the levels of response mark scheme to each advantage - maximum 3 marks for each
advantage.

Level | Marks | Description
3 3 A clear and thorough explanation showing understanding of an
advantage of using a bank overdraft as a source of finance.
2 2 A partial explanation showing understanding, but lacking detail and/or
minor inaccuracies.
1 1 Fragmented points made.
0 0 Nothing worthy of credit.

Answers may include:

e Flexibility - can change the amount borrowed at any time as long as the business are
within the overdraft limit set by the bank.

e Cost - interest is only paid on amounts borrowed so it is cost effective in that if the
business pay it off quickly it will reduce the overall cost and there is not normally a charge
for early payment.

e Speed - overdrafts can usually be arranged/amended quickly so that the business can
access the money when needed to meet short-term obligations eg wages, trade payables.

e Risk - overdrafts are not usually secured against non- current assets so the business
should not be at risk of losing their non-current assets.
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Marker note:
¢ Do not reward disadvantages.
¢ Not all content needs to be covered to gain full marks.

e The indicative content is not exhaustive other credit worthy material should be awarded
marks as appropriate.

Student responses

Response A
Advantage 1 7t bunk evcdidt wilk provide @ shodt~ feem  finence

Sourte for twe business , This mecas thot Huy oill be cble o meet
smaller  shock - heam debts  Successfully with a relabinly jow inkeert
dwge over o shork hime peced.

Advantage 2 A bunk ovadet wn wsuelly be negerisred b allo
b bwiners G leger credik linik, wiich vall be hudpful fre hem
® fy k. nct ryuwe gncher fincage sowee, whidh condd pe
fime. Lonsianing bo request ond recive —if hey ace eligible,

This is a Level 3 response

This is a clear and thorough explanation showing understanding of two advantages of
using a bank overdraft as a source of finance. The student’s response has a focus on

flexibility, time and cost.
Overall the answer meets the requirements of Level 3 for both points.

6 marks
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Response B

Advantage 1 1Y adowS Y buwiness 1o boryow
monuy from e buni fy confipe ppercfing,
tarefore, Wlping vty plymedts 10 Hode
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rat ey cap Shy opéidte jalféad
of POLNDULLY Going inte llguidatrds

This is a Level 3 response

This is only a partial explanation showing an understanding of one benefit of using an
overdraft, however the student focuses only on meeting short-term obligations so only
one advantage has been demonstrated. A clear and separate point needs to be made for

the other advantage to be awarded.
Overall the answer meets the requirements of Level 3 for only one advantage being
demonstrated.

3 marks
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5 mark question

This is a stand-alone question which requires the students to prepare a rent received account,
this is assessing the student'’s ability to effectively utilise their understanding.

The book-keeper of Halpine is preparing the accounts for the year ended
31 March 2022. The rent receivable account for a flat rented out is still to be
completed.

The following information was provided.

£
Rent receivable owed to Halpine on 1 April 2021 860
Rent receivable paid into the bank during the year ended 13 900
31 March 2022
Rent receivable refunded by Halpine 500

Additional information

Included in the rent receivable paid into the bank was £2 730 which covered the
three months ending 31 May 2022

Question 12
Prepare the rent receivable account for the year ended 31 March 2022. Show clearly the

amount to be transferred to the income statement and the balance brought down 1 April
2022.

[5 marks]
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Mark scheme

AO1 - 5 marks
Dr Rent receivable Cr
Details Amount Details Amount
£ £
Balance b/d 860 (1) Bank 13900 *
Bank 500 (1)* both
Income Statement 10720 (1)** OF
Balance c/d 1820 ***
13900 13900
Balance b/d 1820 (2) W1 ***
w1

£2730/3x2=£1820(1)

Marker note:

*Award 1 mark for both entries. Do not award where the student has netted the figures off ie
£13 400

**Award 1 mark for the income statement figure being used to balance the account - this
could be on the debit or the credit side. This must be arithmetically correct.

***Award 1 mark for the calculation of £1 820. Award 1 further mark for the balance brought
down. This must be on the credit side of the account and must use one of the following
figures (£1 820, £910 or £2 730) to be awarded.

To award the marks amounts must be supported by an appropriate label (recognisable

abbreviations are acceptable for Balance, eg Bal c/d, b/d, Bal c/fwd., b/fwd. For the income
statement label accept profit and loss account, 1+S and P+L. For the bank label accept refund.
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Student responses

Response A
Dr Rent receivable cr
Details "‘"‘E""“ Details Amount

Htbapviae SR o 40
Reqe CRUMA | R00  § oak 3,000
Lo otamue | 10,090

RILA P08 Weboyrune\ L0
1§, 540 6540

3 marks awarded in total for this response, no mark awarded for the incorrect treatment
of the opening balance. 1 mark awarded for both the bank entries. 1 mark awarded for the

calculation of £1,820, however a further mark hasn't been awarded for the balance
brought down as this must be on the credit side of the account. 1 own figure mark
awarded for the income statement figure being used to balance the account which is
arithmetically correct.

3 marks
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Response B
5 Rent receivable ¥ &
Details Amesnt Details —
bl 0/d K B K 13400
Lyund SO
Advia A
T Yo Tpcohs NeRMIk| 10710
) )¢ B \§10 -
15400 1% 00
pa) )d \$12

5 marks awarded in total for this question. 1 mark awarded for the correct treatment of
the opening balance. 2 marks awarded for the correct calculation and treatment of the
closing balances. 1 mark issued for the correct treatment of the two bank figures and 1
mark awarded for the income statement figure being used to balance the account which is

arithmetically correct.

5 marks
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5 mark question

Correction of errors question which requires students to prepare a suspense account and
discover the trial balance shortfall.

Ross i1s completing his draft trial balance, which does not balance. A suspense
account is opened and the following errors are discovered:

1. Rent payable of £7 600 had been correctly entered in the bank account but
credited to the rent payable account.

2. Discount received of £2 400 had been correctly entered in the payables ledger
account but omitted from the discount received account.

3. Drawings of £3 500 had been correctly entered in the bank account but credited

to the wages account.

Question 13.1
Prepare Ross's suspense account to correct the errors, clearly showing the opening balance.

[5 marks]

Mark scheme
AO1 - 5 marks

Dr Suspense Cr

Amount Amount
Details Details
£ £
Balance b/d 19800 (1) OF * |Rent payable 15200 (1)
Discount received 2400 (1) Wages 3500 (1)
Drawings 3500 (1)
22 200 22 200
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Marker note:
* The balance brought down could be on either side but must be numerically correct to be
awarded.

To award the marks amounts must be supported by an appropriate label (recognisable
abbreviations are acceptable for Balance, eg Bal b/d, Bal b/fwd. For Balance b/d accept trial
balance shortfall however do not accept balance c/d as this implies it is carried forward for
the next financial period.

Accept a £7 000 credit entry for drawings/wages combined if supported with an appropriate
label (ie wages and drawings (it needs to say both) or journal).

Where a learner makes an entry with the label trade receivables and/or trade payables for £2
400 or £4 800 this should be ignored and not treated as an alien item. This could be on either

side (or both sides) of the account.

For the OF Balance b/d to be awarded the account must be balanced and arithmetically
correct.

Student responses

Response A
Dr Suspense o
Details Acsormt Details e o
Brhanee VI R 10800 | Rent Ponpadel 1S100
Dﬂtnm\[ Becetsd LU u&.w -ﬁﬁﬂ'ﬁ
p Dews b § ) 3507
T 00 L 00

This response fulfils all the demands of this question and therefore has been awarded full
marks. The answer demonstrates the student’s ability to correctly deal with the errors that
have occurred, effectively utilising the suspense account and calculating the trial balance

shortfall.

5 marks
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Response B

Dr Susp_-an 58

| |
Details Amount Details Amount

Vicounk Detamer ) yoo | Rentbogore 7600
ethowve (11,900 et boyorr, | 7000
LY

15,200 N ) ge

This response has been awarded 3/5. The student has been awarded 1 mark each for the
correct treatment of discount received and rent payable. 1 own figure mark has been
awarded for the calculation of the trail balance shortfall, however the student has failed to

deal with the wages and drawings error.

3 marks
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4 mark question

This is a continuation from question 13.1 where students are expected to revise the level of
profit post the correction of errors.

Question 13.2
Ross had calculated his draft profit to be £86 454 before noticing the errors.

Calculate the revised profit figure, taking into account any adjustments required for correcting

the above errors.

Mark scheme

£
Draft profit 86 454
Error 1
Error 2
Error 3

Revised profit

AO1 - 4 marks
£
Draft profit 86 454
Error 1 (15 200) (1)
Error 2 2400 (1)
Error 3 (3 500) (1)
Revised profit 014 (1)OF~"

© 2024 AQA
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Marker note:
Both amount and direction must be correct for each mark to be awarded for items 1 to 3.

* The revised profit figure can be awarded as long as the total is arithmetically correct. Any

reference to trade payables or trade receivables should be ignored and not treated as an
alien item.

Student responses

Response A
£
' Draft profit 86 454
|

Error 1 ((S:200)

Error 2 2, 9 60
! Error 3 | ( 2/ C-‘OO,)
‘ Revised profit |L £, €35 &4

The response achieves 3 out of the 4 marks available. 1 mark for correction of error 1 and 2
is awarded, however no mark has been awarded for error 3 as the profit only falls by £3,500
not the £7,000 used in the answer. 1 own figure mark has been awarded for the revised

profit as it is arithmetically correct to the student’s response.

3 marks
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Response B
£
] Draft profit 86 454
-E;ror 1 - (7606)
“E.rror 2_ 2400
Error 3 O
Revised profit 3[ 23S L{

2 marks have been awarded in total for this response. 1 mark for the correct treatment of
error 2 and 1 mark for the revised profit as it is arithmetically correct to the student’s

response. No marks have been awarded for errors 1 and 3 as these are incorrect treatments.

2 marks
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14 mark question

Students are required to calculate net cash flow from operating activities by producing a
reconciliation statement displaying how to convert operating profit to net cash flow from

operating activities.

Additional information

1. Taxation for the year was £6 534.

2. Dividends paid during the year were £24 000.

3. A second debenture was taken out on 1 November 2021.

4. A non-current asset which originally cost £62 000 with a net book value of
£35 000 was sold for £39 500

Question 14.1
Prepare a reconciliation of operating profit to net cash flow from operating activities for the
year ended 31 March 2022 to comply with IAS 7.

A full statement of cash flows is not required.
[14 marks]
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Mark scheme
AO2 - 14 marks

£
Profit from operations 45 667 (5) W1
Profit on disposal (4 500) (1)w2
Depreciation 95555 (2) OF W3
Decrease in inventory 2222 *
Increase in trade receivables (1 888) *(1) both
Decrease in trade payables (3422) (1)
Cash from operations 133634
Interest paid (4 700) ** (1) OF
Tax paid (5834) (2)w4
Net cash flow from operating activities 123100 (1) OF
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W1 Profit from operations:

£

Retained earnings c/fwd. 122 030
Retained earnings b/fwd. (111.597)

10433 (1)
Taxation 6534 (1)
Dividends 24 000 (1)
Interest 4700 (2)
Profit from operations 45 667 OF

Workings for interest

£70 000 x 6% = £4 200 * 7/12 = £2 450 (1)
£90 000 x 6% = £5 400 * 5/12 = £2 250 (1)
£2 450 + £2 250 = £4 700

Alternative method for calculating the interest
£70,000 x 6% = £4,200 (1)

£20,000 x 6% x 5/12 = £500 (1)

£4,200 + £500 = £4,700

W2 Profit on disposal:
£39 500 - £35 000 = £4 500 (1)

W3 Depreciation:
Provision For Depreciation

Disposal 27 000 (1) | Balance b/d 339 930* (1)
Balance c/d 408 485* | Depreciation charge 95 555 OF
435 485 435 485

Marker note:
*Mark is for both items

© 2024 AQA
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Alternative:

£408 485 - £339 930 = £68 555 (1) + £27 000 # (1) = £95 555 OF

# Student may show add £62 000 and deduct £35 000 so please reward this instead if
direction is correct.

Award one mark for the following depreciation figures shown in the reconciliation statement
(with or without workings).

£68 555

£27 000

£41 555

All other figures must be checked via the workings

W4 Tax paid:
Tax
Bank 5 834 OF | Balance b/d 1 800* (1)
Balance c/d 2500 (1) | Income statement 6 534*
8334 8334

Marker note:
*Mark is for both items

Alternative:
£6 534+ £1800=£8334(1)-£2500 (1) = £5 834 OF

Marker notes:

Calculations where the workings are not transferred or are transferred but in the wrong
direction into the reconciliation will not be fully rewarded. For example a depreciation charge
of £95 555 would be awarded 1 mark if it is not transferred into the reconciliation or if £95
555 is shown as a negative figure in the reconciliation. A profit on disposal figure of £4 500
would be awarded zero marks if it is not transferred into the reconciliation or if shown as an
addition in the reconciliation.

Each entry must have a reasonable narrative (does not have to say increase or decrease as
long as the direction is clear).

** |nterest paid must agree with their original figure in their profit from operations figure.
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Student responses

Response A
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This answer achieves 8/14. 2/5 marks have been awarded for the calculation of profit from
operations, the student has miscalculated the difference in retained earnings and the
finance cost (interest) on the debenture. 1 own figure mark has been awarded for the
calculation of depreciation, the student has correctly calculated and treated profit on
disposal, change in inventory, receivables and payables. 1 own figure has been issued for

debenture interest as this agrees with the profit from operations calculation but no marks
awarded for taxation. 1 own figure has been issued for net cash flow from operating
activities as the student’s answer is arithmetically correct to the figures that have been
awarded.

8 marks
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Response B _
PLetit-pewor_eperatioas s
Peohit tom opeaations 45667
Depreciation bl 535
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Decrease ininventery — Z2AZA.
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70,000 X .06 = 92005 _
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703048 — 229 ,'PBO - £7, 558
(23,000

v /4
Dispovecd Anset’ Pep - 62 000 - 35,000 = A7000

This response has been awarded 13/14. Full marks have been awarded for the correct
calculation of operating profit, the correct calculation and treatment of profit on disposal,
inventory, trade receivables and trade payables. 1 own figure has been awarded for the

calculation of depreciation, this is for the workings of £68,555. Further marks have been
issued for interest payments, taxation and net cash flow from operating activities.

13 marks
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6 mark question

This question follows on from question 14.1 where students had to prepare a reconciliation of
operating profit to net cash flow from operating activities for the year ended 31 March 2022
to comply with IAS 7, the answers of which provide context for question 14.2

Question 14.2

The Managing Director of Grussell plc has asked the Finance Director about why the company
needs to prepare the statement of cash flows. The Managing Director feels that preparing this
statement is a waste of resources and that the information produced is confusing.

Assess the Managing Director’s opinion.
[6 marks]

Mark scheme
AO2 - 2 marks, AO3 - 4 marks

Level | Marks | Description

Judgements are fully supported by a wide range of evidence. A clear and
3 5-6 | balanced analysis of data/information/issues is provided, showing a
logical chain of reasoning.

Judgements are partially supported by evidence. A reasoned, but
unbalanced analysis of data/information/issues is provided; starts to

2 3-4 | develop a chain of reasoning. Comprehensive and relevant knowledge
and understanding of principles/concepts/techniques has been applied in
context.

Judgements may be asserted but are unsupported by evidence. An
analysis of discrete points of data/information/issues provided; no chain

1 1-2 | of reasoning is attempted. Limited but relevant knowledge and
understanding of principles/concepts/techniques has been applied to the
context.

0 0 Nothing written worthy of credit.
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Answers may include:

Case for preparation of a statement of cashflows

Highlights the differences between cash and profit since they are treated differently in the
financial statements so that it is known where cash is generated and spent. In this
instance the business has generated £123 100 OF from its operating activities, spent £277
500 on non-current assets and received £127 000 from its financing activities. This means
cash has reduced by £27 400 overall.

Knowledge of the cash position is important as a business can fail despite being profitable
if it does not have enough cash to meet its obligations.

Being a public limited company, they should already comply with accounting standards
They have to produce a Statement of Cash Flows to comply with these standards and have
their accounts signed off by the auditors. If the company's accounts are not prepared to
meet these standards the auditors will have made comments in the accounts or possibly
refused to sign them off.

Stakeholders can see lots of information which is not shown in the Income Statement and
Statement of Financial Position such as the amount of the dividends paid and changes to
the amount of borrowing more clearly. This will help stakeholders to make more informed
decisions.

Being on the stock exchange will also involve attracting potential shareholders who may
want to see all of the financial statements. Potential investors want to make an informed
decision based on reliable information that shows a true and fair view. They would be
nervous about investing in the business if the accounts do not appear to be reliable. This
could result in future shareholders not investing in Grussell plc and existing shareholders
selling their shares which would mean the share price falls and damages the company's
reputation.

Case against preparation of a statement of cashflows

For someone with limited accounting knowledge the Statement of Cash Flows can seem
confusing and hard to understand compared to an Income Statement and Statement of
Financial Position.

The cost of preparing the accounts and having them audited reduces profitability.

A lack of understanding of the content of a statement could actually put some investors
off investing in shares which might stop the share price rising as much as it could
potentially have done.

The amount of time and/or money spent on the accounts could have been better spent on
improving the business in other ways.

Accounts can be window dressed to some degree to make the business look better/worse
than it actually is.

Marker notes:
Not all content needs to be covered to gain full marks.

The indicative content is not exhaustive other credit worthy material should be awarded
marks as appropriate.
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Student responses

Response A
Grussel ple  =hoad peQae € scommens
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This is a Level 1 response

The total for this response is 2/6. Some balance has been provided here with the student
building an argument for and against the managing director’s opinion. However a limited

range of knowledge has been displayed, the points made are generic with no context and
there are limited chains of reasoning. 1 mark has been awarded for each argument.

2 marks
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Response B

A Stakement of Cash fiowis Can allawy
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beanseen profik and Cagh flgwa in
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This is a Level 2 response

The total for this response is 3/6. Here the student has provided a Level 2 response where
the student has built a case for and a case against the director’s opinion. There is balance

in this response and the student has displayed relevant knowledge and understanding of
principles, concepts and techniques. However the student has failed to apply this in
context, and therefore cannot move up to the next level of response.

3 marks
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14 mark question

Paulo is a sole trader, frading as Cluedo Coffee. A tnal balance has been extracted
from his books of account and is shown below.

Trial balance of Cluedo Coffee at 31 March 2022

Dr Cr
£ £
Bank balance 22 456
Drawings 17 345
Capital at 1 April 2021 103 907
General expenses 165 043
Inventory at 1 April 2021 16 276
8% loan 50 000
Loan interest paid 2 000
Premises at cost 120 000
Premises — provision for depreciation at 1 April 2021 16 800
FPurchases and revenue 43 451 102 564
Rent payable and rent receivable 9 600 3100
Trade receivables and payables 1 500 8 300
Vehicles at cost 83 000
Vehicles — provision for depreciation at 1 April 2021 46 000
330671 | 330671

Additional information

—

. Inventory at 31 March 2022 was valued at £12 304.

2. Goods retumed to a supplier had been included in the purchases and trade
payables at the purchase price of £4 200.

3. The proceeds from the sale of a vehicle were recorded incorrectly as revenue
rather than as a disposal of a non-current asset. No other entries for the disposal
of the vehicle had been recorded in the accounts. The vehicle was sold for
£6 000 more than the net book value of £22 000. The vehicle cost £49 500
when it was originally purchased.

4. Depreciation of vehicles is to be charged using the reducing balance method at a
rate of 33 1/3% per annum. A full year's depreciation is charged in the year of
purchase and none in the year of disposal.

5. Depreciation of premises is to be charged using the straight-line method at a rate
of 2% per annum.

6. The loan was taken out on 1 April 2021.
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Question 15.1

Prepare an income statement for Cluedo Coffee for the year ended 31 March 2022.

Mark scheme
AO2 - 14 marks

Cluedo Coffee

[14 marks]

Income statement for the year ended 31 March 2022

£ £
Revenue 74 564 (1) CF W1
Cost of sales
Opening inventory 16276 *
Purchases 43 451 **

Less returns outwards

4200 **(1) both

Less closing inventory

12304 *(1) both

Gross profit

31341 (1) OF

Add other income

Profit on disposal of vehicle 6 000 (1)
Rent receivable 3100 ***
40 441
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Less expenses

General expenses

15043

Rent paid 9600 ***(1) both
Depreciation of vehicles 5000 (5)w2
Depreciation of premises 2400 (1)W3
Loan interest 4000 (1)w4
36 043
Profit for the year 4398 (1) OF

Marker notes:

e Gross profit must be labelled and mathematically correct based on the student’'s own

revenue and cost of sales figures.

e Profit for the year must include general expenses, be mathematically correct and contain
no extraneous items eg drawings in the expenses.
e Accept a net purchases figure of £39 251 (1) where a student has not shown purchases

and returns outwards separately

e Accept net profit for the label. Do not accept abbreviations eg PFTY or just ‘profit’.

W1 Revenue

£
Original revenue 102 564
less sale of vehicle 28 000
Revised revenue figure 74 564

W2 Depreciation of motor vehicles

Cost £

Vehicles at cost 83 000
Less disposal at cost 49 500
New vehicles at cost 33 500

Depreciation
Provision at 1 April 2021
Disposal depreciation (49 500 - 22 000)

Provision prior to depreciation charge for the

year

© 2024 AQA
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New cost £33 500 (1)
less new dep £18 500 (1)
Net book value at 31 March £15 000 (1) OF
Depreciation rate 331/3%
Depreciation charge for the year £5 000 (1) OF
Alternative

Cost £83 000

less provision for depn at 1 April 2021 £46 000

less disposal £22 000

Net book value at 31 March £15000 (4)
Depreciation rate 331/3%
Depreciation charge for the year £5 000 (1) OF

If the working is shown but the answer is not used in the income statement award up to 4
marks.

W3 Depreciation of property

Property at cost £120 000
Depreciation rate 2%
Depreciation charge for the year £2 400

If an answer of £7 400 (ie combining both depreciation of £5 000 and £2 400) and is shown
with a reasonable label (eg depreciation of non-current assets, depreciation) this can be
awarded all 6 marks.

W4 Loan interest

Loan £50 000
Annual interest rate 8%
Loan interest £4 000
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Student responses

Response A
Cluedo Coffee
Income statement for the year ended 31 March 2022
¢ £
N éuerue (_m?.rjaa -2%,000) T, FE&
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TZE
Curclaret (ési4s) -4 200)
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=
=S §.o00

1 mark issued for the correct figure for revenue. The purchases figure has been
miscalculated as this has been adjusted for the purchase returns. 1 mark issued for closing
inventory. 1 own figure for the calculation of gross profit (this is arithmetically correct to
the student’s response). 1 mark awarded for the correct treatment of rent receivable and

payable. 1 mark for the depreciation of premises. 5 marks awarded for the calculation of
vehicle depreciation. 1 own figure for profit for the year. The student hasn't included profit
on disposal or the loan interest as an expense.

11 marks
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Response B
Cluedo Coffee

Income statement for the year ended 31 March 2022

S _
Revee o 7u.%q
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e R vt (4, 200)
L858 (Losing nNYketty ,ﬁz,ﬂ 7))
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.' 9 P QoA 0,000
) eeasuen \ohidis 5000
Yeervns 1Lb0o0
36,043

et Cot yeof 45u328B4F
AbK oo OMAfoal G000

13/14 marks awarded. All marks awarded. However, no mark issued for purchases or
purchase returns as the mark is only issued if a net purchases figure of £39,251 is reached

(1 mark) where a student has not shown purchases and returns outwards separately.

13 marks
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6 mark question

See introduction table on page 27 for context.

Question 15.2

Assess whether Paulo is correct in his assumption about the profitability of Cluedo Coffee.

Mark scheme

[6 marks]

AO2 - 2 marks, AO3 4 marks

Level | Marks

Description

Judgements are fully supported by a wide range of evidence. A clear and
balanced analysis of data/information/issues is provided, showing a
logical chain of reasoning.

Judgements are partially supported by evidence. A reasoned, but
unbalanced analysis of data/information/issues is provided; starts to
develop a chain of reasoning. Comprehensive and relevant knowledge
and understanding of principles/concepts/techniques has been applied in
context.

1 1-2

Judgements may be asserted but are unsupported by evidence. An
analysis of discrete points of data/information/issues provided; no chain
of reasoning is attempted. Limited but relevant knowledge and
understanding of principles/concepts/techniques has been applied to the
context.

Nothing written worthy of credit.

Answers may include:

Gross profit margin is 42% (OF) and the profit in relation to revenue is 5.9% (OF). Better
control of expenses is needed based on this information.

A loss (OF) would have been made were it not for the profit of £6 000 on the disposal of a
non-current asset.

A significant proportion of the profit came from rental income (rent receivable) of £3 100.
If this were to fall in the future it could cause losses to occur.

Drawings are significantly higher than the profit made (OF). This will not help Cluedo
Coffee in the future as there is less money available to use for any expansion.

Although revenue has grown by 10% profitability is very low and we do not know if profit
grew by a similar amount.
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e Loan interest of £4 000 will significantly reduce profit until it is repaid.

e It would be helpful to have ratios from similar business and/or last year’s figures to make a
more informed decision on its profitability trend.

Student responses

Response A
AlhoUgh) Khg  ganora)  ewenil of A > SRS
Mmay e ﬁEing twis  doesnk  gluweys nean that

the busimest I  thoreforR goryg to  bacome mang
proHYabe , 08 Shewn M the  inome  Stakemant
the business hat  far greaser  \ndl§ of expuve|
compared o sowrcey of (nema. RS A (RSUAE of
Hs tha  REeNLR  hgure beoomas 1055 veluabe
G5 Wi an  ncreofed  wvel of ocuk puk AL
Lh(uj only eed o  fushovr @xpeansos Mﬂd.mj "
be paid bj (e mmp.unj, fuc exampw thay Moy
ned Roby larger prenmises ko PaduaR e
prodalcts.

Mh*e%u-rt Parlos oSS umpni o n_mmj__n_n Y be
(oreckE oS e needy tm view ol tha  athav

Incomas  and  expengef oF tWe buginos{ roteax
tan juit tha (ewenug 0 R able to make o
valid  oSSumpobn ahowut (IS Pm_{*ﬂﬂbﬁﬂ:j-

This is a Level 1 response

The total mark for this answer is 2/6. This student has provided an unbalanced response

which shows a low-level of knowledge and understanding and isn't in the context of the
question.

2 marks
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Response B

The receane of Cuedos Coftee has boen sivaddly inceasing by orowed 10%
Year on year, Howewer, Hus de P! s business has

@ ol leel of popitobilty . From his inwome stolement, we cun see thet

his cxpenses oo greoker then s grons pkt ond 5o bk Hhe
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unlilely to cuowd eveny yeas aad so ,Mmﬂum@_
Phudo is Lialy to see o furtuer pedukion in Wis proft.,

This is a Level 2 response

The total marks awarded for this answer is 4/6. The case against is quite well-written which
displays a good level of knowledge/understanding and is supported by evidence (one-off

disposal) which has some development. It identifies that a growth in revenue does not

always link to a change in profitability hence the response lacks focus and cannot achieve
a Level 3 response.

4 marks
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25 mark question

Essay question

Otmar is a sole trader and owns a small manufacturing business which makes
designer leather shoes. The business has grown quickly and has recently been
unable to keep up with customer demand due to a shortage of skilled labour.
Otmar thinks it is time to purchase some new machinery to help speed up
production and enable the business to complete more orders. This could boost
profitability by at least 25%. The cost of the machinery is significant at £25 000 and
the company is unlikely to secure further external funding as the business regularly
uses an overdraft.

Otmar provides the following financial information.

£
Capital at 31 May 2022 35 000
Average monthly profit 3500
Monthly drawings 2 500

Otmar believes he needs to bring a partner into the business ownership in order to
inject funds into the business. He is considering the following two options.

1. Kimmi

Otmar employs Kimmi as the production manager. Kimmi has suggested on a
number of occasions that she should become a pariner. Kimmi has good ideas,
knows every part of the production process and trains all the staff to a high
standard. The staff have a strong working relationship with Kimmi. Otmar worries
about their loyalty if Kimmi ever left.

Otmar and Kimmi would have a formal partnership agreement and share profits on
a 2:1 ratio respectively. Kimmi's current salary of £31 000 would reduce to £25 000
and Otmar would have a salary of £28 500 per annum. Kimmi would invest all her
savings of £20 000 into the business. Otmar would put a further £5 000 into the
business from his own funds.

2. Pnya

Priya, an old friend of Otmar, contacted him to suggest she is willing to invest in the
business. Priya has recently sold her own very successful footwear business. She
has no interest in getting involved in the day-to-day running of another business at
the moment. Pnya wishes simply to receive her share of any profits. This should
leave Otmar to run the business without interference. Priya could access funds of
up to £100 000 to invest in the business.

There would be no formal partnership agreement. Priya would invest £90 000 into
the business.
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Question 16
Evaluate which of the two options Otmar should choose. Justify your answer.

Consider both financial and non-financial factors.
[25 marks]

Mark scheme
AO2 - 5 marks, AO3 - 20 marks

Level | Marks | Description

A clear and balanced response that presents a coherent and logically
reasoned judgement and conclusion/solution that is supported by an
astute consideration of a wide range of evidence including other factors

5 21-25 | relevant to the wider context.

There is an insightful assessment of the significance and limitations of
the evidence used to support the judgement.

A reasoned, but in places unbalanced, judgement and
conclusion/solution is presented that is supported by an evaluation of a
wide range of evidence, including a narrow consideration of other factors

4 16-20 | 1qjevant to the wider context.

There is a partial assessment of the significance and limitations of the
evidence used to support the judgement.

An underdeveloped judgement and conclusion/solution is presented that
is supported by an evaluation of a range of evidence provided in the
question; however there may be inconsistencies and the reasoning may
contain inaccuracies.

A comprehensive and relevant selection of information is analysed,
showing a developed logical chain of reasoning. The results of any
appropriate calculation/s are integrated into the analysis and evaluations
offered on most.

3 11-15

Comprehensive and relevant knowledge and understanding of
principles/concepts/techniques is drawn together and applied
successfully to the context. Where appropriate, a thorough selection of
relevant calculations is attempted; these may include minor errors.
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A basic judgement and conclusion/solution is presented, it is supported
by a limited evaluation of evidence provided in the question, containing
significant inaccuracies.

A limited but relevant selection of information is analysed, starting to
develop a logical chain of reasoning. The results of the calculation/s are

2 6-10 | . . . : .
integrated into the analysis but with weak evaluations.

Limited but relevant knowledge and understanding of
principles/concepts/techniques is drawn together and applied
successfully to the context. Where appropriate, a limited selection of
relevant calculations is attempted; these may include minor errors.

A judgement and conclusion/solution may be asserted, but it is
unsupported by any evidence.

Responses present a limited selection of information that is not wholly
relevant with an attempt at analysis. A chain of reasoning ranges from
being barely present to undeveloped.

Fragmented items of knowledge and understanding of
principles/concepts/techniques relevant to the contexts are present.
These are likely to be descriptive, with limited application to the context.
Where appropriate, some calculations are attempted; these are likely to
contain errors and may not be relevant to the context. Results of the
calculations are stated with little or no evaluation.

0 0 Nothing written worthy of credit.
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Indicative content may include:
General comments

Application AO2

Purchasing the machinery is needed to ensure further orders can be completed - potential
for an increase of 25% in output which could improve profit by £875 per month (£10 500 per
annum) to £4 375 per month (£52 500 per annum).

Making Kimmi a partner

Application AO2

e Slight reduction in Kimmi's salary by £6 000 which reduces the risk to Otmar and gives him
a higher profit figure before distribution.

e Current annual profits are £42 000 which all belong to Otmar. If he takes up the
partnership it will be £42 000 + £10 500 + £31 000 (no salary to pay Kimmi) = £83 500. After
deducting the salaries of £53 500 there could be £30 000 available which would be split
2:1.

Case for choosing Kimmi

Analysis and evaluation AO3

e Otmar could receive £48 500 which is an improvement on the £42 000 by £6 500.

e Kimmi will receive £35 000 (£25 000 salary + £10 000 profit share) which means Kimmi is
better off by £4 000.

e Risk of losses are now shared which spreads risk for Otmar.

e Making Kimmi a partner could help avoid Kimmi leaving and any potential loss of staff that
could follow. This helps keep the skills and experience in the business.

e Ideas could increase if Kimmi is now more motivated to try and boost profitability.

e Add in monthly figures

Case against choosing Kimmi

Analysis and Evaluation AO3

e Profits will now need to be shared.

e Decisions will need to be discussed with Kimmi.

e Kimmi is not putting as much money in so Otmar needs to make a further injection of his
own capital.

e Otmar is receiving less investment than with Priya although Kimmi will only own 1/3 of the
business.

e Conflict could escalate further now that Kimmi has more power and influence as an owner
and her strong influence over the staff.

e Does Kimmi have enough management experience to successfully part own a business?
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Making Priya a partner

General comments

Application AO2

e No formal partnership agreement means Otmar will not receive a salary for working there

e Partners will share profit equally despite Priya not being involved in the running of the
business

e Current annual profits are £42 000 (3500 x 12) which all belong to Otmar. If he takes up
the partnership if will be £42 000 + £10 500 = £52 500. Profits are shared equally so Otmar
would only receive £26 250 as his share of the profits.

Case for choosing Priya

Analysis and Evaluation AO3

¢ No change to the way the business runs if Priya stays as a silent partner so the business
could still be run the way Otmar wishes.

e Priyais taking a 50% stake but is putting in proportionally much more than this. The
amount could be enough to repay any non-current liabilities/bank overdrafts and/or buy
the machinery. It could also be used to boost profits from interest saved and reduce the
issues they have with cash flow which might be beneficial if the additional orders are on
the usual credit terms.

e Priya has experience in the industry and could provide knowledge and industry contracts
which could further boost profitability.

Case against choosing Priya

e Could upset Kimmi as she does not achieve her partner ambition and could leave to set up
her own business (possibly taking staff and customer contracts with her potentially).

e Priya may not remain a silent partner.

e Otmar will be £15 750 worse off (£42 000 - £26 250).

Limitations of the data

e Sales increase of 25% - how has this been estimated and is it realistic? Will they be able to
sell the additional units they produce?

e Very limited financial data is provided such as sales revenue/profits in recent times which
could have helped with a decision.

e How would the changing role of Kimmi affect their working relationship?

e Could Otmar work with Priya? Would it affect their friendship?

e Are there other staff who might wish to become owners in other areas of the business?

Marker note:

The indicative content is not exhaustive: other creditworthy material should be awarded
marks as appropriate.
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Student responses

Response A
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This is a Level 5 response

The total awarded for this response is 21/2. It has shown analysis throughout the
answer with clear signposts to application in context with the student building on their
ideas with effective chains of reasoning. This student makes astute
judgement/recommendation which takes limitations of evidence into account. The

conclusion/recommendation is slightly less convincing as the decision is a little unclear.
However the main body of the response is clear and balanced and shows a
consideration of a wide range of evidence including other factors relevant to the wider
context.

21 marks
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Response B
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This is a Level 3 response

This response was awarded 14/25, as it includes an error in the calculation (the drawings
are used rather than current profits). Throughout the response there is evidence of good
chains of analysis which are reasoned and by large supported by application. The student

has demonstrated an idea of the scale of the investment which adds to their response. The
judgement here is very limited and incomplete in places, this needs to be clearer and fully
justified. The student has made no links to the limitations of the data discussed.

14 marks
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25 mark question

Donna has retired and received a lump sum of £50 000 which she wishes to invest in
shares. She needs a return from this investment to help fund her retirement.

She has researched companies of which she already had knowledge as a customer.
She has two companies as her preferred choice. Donna has provided you with the
following information based on the last three years’ trading for each company.

Extract of financial information:

Pik ple Barnard plc
2022 2021 2020 2022 2021 2020
Earnings
per share 12p 16p 14p 16p Op hp
Dividend 24 24 6.7 7.3 53 56
cover times times fimes times fimes times
Market
price per
share at 200p 220p 140p 140p 125p 60p
year end
Di;iigl‘;"d 25% 3.0% 15% 1.6% 1.4% 1.5%

Pik plc is a social media company which owns a number of popular websites and
apps. It has been trading for nine years and has very little debt. The company has a
small head office since most of its staff work from home, which keeps costs to a
minimum. Pik plc sells adverts on its websites and apps. There have been rumours
that it tracks the data of its users and sells this to advertisers, which would breach
data protection laws. This has created some concemns about its ethical stance as a
company, particularly as many teenagers use the sites. The government has the
ability to issue multi-million-pound fines for companies found guilty of breaching
these rules.

Barnard plc is a supermarket chain. It is an established company which has been
trading for around 50 years. Bamard plc has supermarkets in most major UK cities.
It owns a large amount of land in key locations around the country. Most of its stores
are owned by Barnard plc although there are a large number of mortgages secured
on these properties. It sources as many Fairtrade products as possible and has a
policy of dealing with suppliers and other stakeholders who behave ethically.
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Question 17

Evaluate both businesses from Donna’s perspective as a potential investor. Make a
recommendation on how she should invest her savings.

Consider both financial and non-financial factors.
[25 marks]

Mark scheme
AO2 — 5 marks, AO3 — 20 marks

Use level of response table on page 37 and 38.

Answers may include:
Case for purchasing shares in Pik plc

AO2 Application

e Can purchase 25 000 shares (£50 000 / £2.00).

e Dividend could be (based on 2022) (50 000 x 2.5%) = £1 250 per annum.

e Earnings per share is fluctuating.

e Dividend cover appears to be declining.

e Market price appears to fluctuate although the overall trend is an improvement of 60p.

e Pik plc has very little debt so more available for shareholders. Barnard plc has mortgages
on a number of properties so has an increased risk for investors and the mortgage
interest must be paid before dividends.

e Pik plc has an online business model which may keep costs lower.

e Ethically, Pik plc might face consumer backlash if the users are aware of the rumours
whether they are true or not.

e Donna could be left with expensive shares if consumers switch to a new social media
app/site as many app’s tend to have a short product life.

AO3 Analysis and evaluation

e Avyearly total dividend of £1 250 is significantly higher than Barnard plc (£800) by £450 so
regular dividend earnings could be possible each year if this is what Donna is looking for.
However an increase in share price might be equally desirable.

e Pik plcis predominantly an online only company so it may be able to keep costs lower
which boost profitability and thus dividends in the longer term.

e Arguably greater risk overall than Barnard plc although the dividend yield also provides a
greater reward.

e If found guilty of breaching GDPR/data protection fines could wipe out/reduce their profits
considerably.

e Earnings per share is very high but fluctuates so hard to ascertain the true performance
trend - what direction will it go in next?

e Dividend cover is falling and is lower than Barnard plc. This could suggest a greater return
to shareholders which may be good for shareholders in the very short-term but could
result in a lack of investment in the longer term.
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The recent (2022) fall in earning per share suggests profitability is falling unless a share
issue has occurred.

Dividend yield has fluctuated as a result of the fluctuation in share price and dividends. It
is unclear to see which direction this is likely to go next.

Case for Barnard plc

AO2 Application

Can purchase 35 714 shares (50 000 / £1.40) which is a bigger quantity of shares than
could be purchased in Pik plc.

Dividends could be (based on 2022) 50 000 x 1.6% = £800 per annum which is less than Pik
plc despite Donna owning more shares.

Earnings per share is high and growing.

Dividend cover is growing - suggesting lots of profit is being retained.

Market price has more than doubled suggesting lots of investor confidence in the
company's future.

Established name in an established market for investors wishing for more security.

Land ownership provides security for the business in the future.

Good ethical stance which might be appreciated by its shareholders, potential
shareholders and customers. The company might be less likely to suffer negative publicity
which could harm its share price.

AO3 Analysis and evaluation

Dividends could be (based on 2022) 50 000 x 1.6% = £800 per annum which is less than Pik
plc despite Donna owning more shares.

Dividend cover is high and growing each year. This would indicate investment through
retained earnings which may be good for investors in the longer term although possibly
less so in the short-term.

Earnings per share is very high but fluctuates - what direction will it go in next?

Dividend yield has stayed broadly the same so the increase in share price must mean an
increase in the dividend per share.

Rising market price suggests stock market confidence in the company which may make it a
more attractive deal in the longer term. However she will own fewer shares than if she had
bought the shares before the share price increases.

Barnard plc has lots of land of significant value which could be sold to generate cash to
pay future dividends.

Barnard plc has a strong ethical stance in the way it runs its business. The company might
be less likely to suffer negative publicity impacting on its share price as a result. This could
mean Donna’s investment is safer.
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Limitations could include

Ratios are all historic data - what is their current trading position? This data is at least 2
months out of date.

Current market price of shares is unknown so the decision to buy shares could be affected
by some more recent share price changes. Depending where the current price is this could
have a significant impact on the attractiveness of buying the shares as the figures might
need recalculating.

More data could help the decision. For example we are not told the interest cover. Pik plc
has low debt so has less risk attached to repayment of debt.

Ratios do not provide the actual figures so could be masking a bigger problem that could
be seen by looking at the accounts as a whole. The financial statements could have been
window dressed. For example the data implies that Pik plc is lowly geared but this ratio is
not given.

Ratios do not take into consideration other non-financial factors such as the company
changing its strategic direction, management experience, investment plans, sources of
their finance.

Market conditions of the two companies may be very different since they are in different
sectors of business. It is difficult to make a true comparison between them as a result.
The year 2020 could just be an anomaly in terms of the share price for both companies.
What was the share price of each company before? Would be better to have a five-year
history.

Evaluation

There could be other better opportunities to invest elsewhere. With such a large amount
Donna is likely to want to spread the risk by investing money into both Pik plc and Barnard
plc and/or other companies.

Non-financial factors could be important to decision making - what is Donna’s ethical
stance on investment. Would she be prepared to invest in a business who may be using
customer data inappropriately?

Short-term gain vs potential long-term prospects should be considered. Barnard plc
appears to be more consistent and less risky. What is Donna'’s investment style - is she
prepared to take risks for greater gain?

Marker note:
The indicative content is not exhaustive: other creditworthy material should be awarded
marks as appropriate.
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Student responses

Response A

Penne has received a !p.gt sum ef mirey cael s Imﬁby te_irwesr s

ik fhe shek morker for  rehva gn hee ineshient « She has reteerthed
M bwn companies, whith s (s alréady o cushonac of + The calcadahons
of imvestor rehios o & business ensbles pukahial javesters b gain an
insight 1nfe the inusiant poenhiol of it finaacially « They wll alow
predidione o be mede of propls, diniand pagiuats Huy may rcive and
chor fockors bused on deda fomn previows yeas . Howerer, this mesns
thak | due b He rbopehive nobwe of Ham, oF (s aswinble o vake
inpasknend decimons sotely bused on Hose, L

Pl pic have reorded o foll in Heir eanigs pic shae cod He mecicer
po ot Wel shats. Ths shas that e peht thay cre mabeing is
dewearing ok o grokse roke Hea He pudek price. Ths is a sjapisak
drinibacke b e invertmast pekeakiol o8 @ pupid decine in Hein  peifs
(ould reslk in ga ingbiling b pay diddids o Mair sheeholders itk
oudd recene - e de ndt know the sceke of e tehum Hak she reguires s
che B oy shies Hhab “she needs o rebuenl This is subjechie & hovever

Ek_fip_mwﬂd fe munbnin Thewr dindend cover of 2.4 hemes for Ha
provces hev ieads afbec sadig o dop of wiede 45 Himes fom 2020 =
olocst Besdoms o Mool of pbok it was. This shows b Dvne thek,
alHagh flig e sl che bo comportubly cover fleis cividind
combventy  they o now less pofiluble Ther fley hawe been | whith conlel
enncage. immrkons oy fom Hamg on the csumphion tak it could

© 2024 AQA 52 of 58



A-LEVEL ACCOUNTING - 7127 - PAPER 1 - ANSWERS AND COMMENTARIES

conhnue fo decease. For her imtshwak, Denna wowld receive 25000 sheves
ingg Pk ple compend b the 35 P4 shoes she wowld gel from
Beroed ple o Hav 2022 modwt prices. Tiis apdsh means thet she
Can eqpeck fo réceive ocound ER00 dividind payoacks from By Bomaal
0ad ow E£1,250 from Pik . Wwlsk if is Seen Mok she worbd get o
gesber rehum from Pk, we de net hnow if Moy ilh conbimuie to be ahle
has inproved by 2 hmes aver e lask yeor, Tiis suggests thet Heace
balh be Jess risk lawolved s Blaachesd in reypeck by Hee rehun hook
e eyt
Along vt e fironcinl fuckers mwmmﬂf_ﬂu_@w
_QLMIEL_%MM Pk F'-’-'Wr"-“*ﬁb@#ﬂ_
bing rumowed ko prskite tnchucel bahanious in Helr business , The
bad poess ooy o recciinng fom Mese nuasoans, whalar brue o ot
can loed fo debrenentnl impacts on Hest cushomer loyally and
_updi«hms s cuslovers becone move swere of Mis behewane, iF

is ldaly Hed Moy mill nst wpok b tonbivee  breding iith & business
Houk 15 prbenkially MMM

Huode, in e long beows, ik is net pang bo be a shong inverfrunt
Banaah is @ eshblished ovpany hath DR bmnind ST yeos of
ecperenc pad i present in pucay piajor Ghes in He Uk, making
Htie shoves_uecosible bo o vert mgeddy of cusdorers . AlHhergh
Moy shll Wave secored debls o Mase  shores, Hey ense Hoaur
abhvichve ko tushmeec .

© 2024 AQA 53 of 58



A-LEVEL ACCOUNTING - 7127 - PAPER 1 - ANSWERS AND COMMENTARIES

Ovenld , T wouldl sugget Huak Domna insveshs hee shiensent javeshn:
ent_inte Bomord pic. Thay ore more Lkaly to conhinue pruding inko
fhe pubwe, ollowieg bae b cmbnwe recansg e rehon fhak she naces
gnd ore ehnical i:L.J.vi.Mj 0. mvgaﬁm_mn_ﬂﬁLﬂik_Pic M,l'w‘ﬁ
B o scle reason hy nok inwest indo Heam, This s likely b cause a
ks feld_in_pofilebibly_wod, Woctfore dividinds as ovore codd peore
pople bhase of Mo rumae they we hor agonst Hem,

£50,000 x /2
Esc,o00 /i 4

25000 shees  x £p 2€h25p dovidends 7

L]

D P shoes XL Up = AOUD dindends B

This is a Level 5 response

This student demonstrates a clear and balanced response that presents a coherent and
logically reasoned judgement which is convincing. Conclusions have been supported by an
astute consideration of a wide range of evidence including other factors relevant to the

wider context. There is an insightful assessment of the significance and limitations of the
evidence used to support the judgement. Calculations have effectively been utilised to
enhance their arguments and deeper chains of reasoning.

23 marks

© 2024 AQA 54 of 58



A-LEVEL ACCOUNTING - 7127 - PAPER 1 - ANSWERS AND COMMENTARIES
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This is a Level 3 response

This response shows clear application throughout along with reasoned, and on occasion,
developed chains of analysis. Calculations have been utilised, however more calculations

need to be present in this response for it to move to a higher level. The student fails to
discuss the limitations of the data, and although a conclusion has been presented, this is
underdeveloped and not fully justified.

13 marks
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